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SN HH G (EH) - MBAY - BYS Ak ais s
Ofl &4 4
OAmE QXA 50,000,000& 50,000
HY2AZUI (MEH)(IIEHDIEL 123,269 117,472 5,797
el AH| 67,217 63,820 3,397
A2 A 67,217 63,820 3,397
101 Q14| 67,217 63,820 3,397
01 2=+ 52,241 49,382 2,859
(OESINIT=E =) 52,241
obg 9,796& x1H «40A| 2+ 12& 4,703
SLI= 8,312 «4H «40A| 2tx 123 15,960
o7g 7,457 3«4 B «40A| 2t 123 14,318
=88 6,682 x2H «40Al 2tx 123 6,415
=98 5,993 x2H »40Al 2tx 122 5,754
=J|s10=2 5,422« 1H »40A| 2tx 1228 2,603
o X R 49,753,000 *5% 2,488
03 RIIHAZZXNE = 14,976 14,438 538
o=sXz 22 (1y 14,976
SPIR= 34,9103 1% »249 8,693
cal= 8,693,000& *4/12 2,898
ocdHIHAZ 8,698,000& *10% 870
cR=sdrY 34,9102 »1H +522 1,816
ocXAHI+Y 34,9102 x1H*202 699
Jl=2Z4l 56,052 53,652 2,400
Jl2Z | 56,052 53,652 2,400
201 LBt AH| 12,292 12,292 0
01 AtS22lHl 10,292 10,292 0
o=l 4,000,000& 4,000
o=l 2,200,000& 2,200
oYdx= 4,092,000& 4,092
02 =234l 2,000 2,000 0
OZ222=ZLHA 2,000,000& 2,000
202 O4Hl 33,600 31,200 2,400
01 =Wl 33,600 31,200 2,400
OZUH=E=&E0HI 200,000& *14H 123 33,600
203 HRF&HI 10,160 10,160 0
01 JI22IHRF4| 6,600 6,600 0
oH24 6,600,000& 6,600
02 FRJAINMAMHRFAH] 560 560 0
OXAAIIEIZ HHI 40,000 x 14 560
04 RN2IHRFAHI 3,000 3,000 0




M MEH
HH: HA2AAHI(MEZH)(IIEH/DIIE)
&t D=3l
- _ - MNuE o
SN CR(EH) - NRAY - BES 01l &k o i
ORNMEZE gRF&I 250,000& «12& 3,000




